(/) Astrolabe

Box Components
Small Fragments

Box Components Kit  Box Components Kit Box Components Kit

09.50.02.00160 09.50.02.00161 09.50.03.00190

Component Trays Component Trays Component Cases
09.50.06.00160 09.50.06.00163 09.50.04.00190
09.50.06.00161 09.50.06.00164

09.50.06.00162







Small Fragments

Instruments Ki




Small Fragments

Instruments Kit — Tray 3

REF

09.08.01.00060

09.05.00.35000

09.05.00.27000

09.05.01.20000

09.28.01.00035

09.01.01.20125

09.01.01.25165

09.01.14.28165

09.01.01.35165

DESC

Depth Gauge 60mm

Drill Guide, @3.5/@2.5mm, Universal

Drill Guide, @2.7/@2.0mm, Universal

Drill Guide, @2.0mm, Parallel

Push-Pull Reduction Device, 3.5mm Plates

Drill Bit @2.0 x 125mm, Tw-30, AO

Drill Bit @2.5 x 165mm, Tw-40, AO

Drill Bit @2.8 x 165mm, Tw-40, AO, Red

Drill Bit @3.5 x 165mm, Tw-40, AO




Small Fragments

]

N#

10

11

12

13

14

14

15

16

17

18

19

19

20

21

22

23

24

25

26

27

Instruments Kit — Tray 3

REF

09.02.01.35000

09.03.01.35000

09.03.02.40000

09.05.05.28000

09.11.01.35000

09.11.01.35001

09.06.02.16055

09.06.00.25000

09.07.05.08113

09.07.05.15117

09.41.01.00008

09.41.01.00015

09.08.02.16060

09.06.04.27350

09.17.01.06000

09.18.01.00015

09.18.01.00008

09.04.04.13510

09.04.04.12030

09.04.07.00050

DESC

Countersink, @3.5 - 4.0mm, AO

Tap, Cortex, @3.5 x 1.25mm, AO

Tap, Cancellous, @4.0 x 1.75mm, AO

Drill Guide, @2.8mm, Threaded

Threaded Plate Holder, 3.5mm Lock

Threaded Plate Holder, 3.5mm Lock, Long

Wire Sleeve @1.6 x 55mm

Drill Sleeve @2.5mm

Shaft Screwdriver, TX-8, 110mm, AO, B-5.0, Gre

Shaft Screwdriver, TX-15, 110mm, AO, B-5.0, BluRed

Screw Extractor, for TX-8, AO

Screw Extractor, for TX-15, AO

Gauge 60mm, Direct Measuring, Wire @1.6 x 150mm

Holding Sleeve @2.7/3.5mm

Periosteal Elevator, W-6mm, Curved Blade, Round

Torque Limiting Attachment, 1.5 Nm, AO

Torque Limiting Attachment, 0.8 Nm, AO

Cannulated Handle, AO, 135mm, Blu

Cannulated Handle, AO, 120mm, Gre

Cannulated T-Handle, AO, Black

QTY



Small Fragments

Instruments Kit — Tray 2

QrY

DESC

REF

N#

, 190mm

Serrated

Self-Centering Forceps,

09.10.03.10190

[e]
o

Reduction Forceps, Serrated, Ratchet, 145mm

09.10.04.01145

29



Small Fragments




Small Fragments

Instruments Kit — Tray 1

002020259 %
12099959 ,0,
oo ooooo.“oo

=

o!'e2e%

—

{ ( X
L 4 L =€ =(

QrY

ESC

DI

REF

N#

230mm

Bending Pliers, 2.7/3.5mm Plates,

09.14.02.20230

o
™

Bender, 3.5/4.5mm Reconstruction Plates

09.13.00.33545

33

Left

Bender, 2.7/3.5mm System Plates,

09.13.00.12735

34

2.7/3.5mm System Plates, Right

12

Bender,

09.13.00.22735

35

Bender, for Wires @ up to 2.5mm

09.13.01.00025

36

Sharp Hook, Small

09.09.01.00000

37



Small Fragments




Lock-Plate
Reconstruction,

Curved
Lock-Plate Straight Lock-Plate T
| l | I Tibia,

Med/Distal



a‘..\

;.ﬁ"t !sa { vvo

Yol 4
. /s.

A

3 L

‘.‘.b

-

Small Fragments
Implant Ki




Small Fragments

10

Implant Kit — Tray 2

NIt

N#

REF

26.16.00.00003

26.16.00.00005

26.16.00.00007

26.16.08.00004

26.16.08.00006

26.04.18.01004

26.04.18.01006

26.04.18.01008

26.04.18.01010

26.04.18.02004

26.04.18.02006

26.04.18.02008

26.04.18.02010

DESC
Lock-Plate, Ti, T, 3-H
Lock-Plate, Ti, T, 5-H
Lock-Plate, Ti, T, 7-H
Lock-Plate, Ti, T Broad, 4-H
Lock-Plate, Ti, T Broad, 6-H
Lock-Plate, Ti, Tibia, Med/Dist, Left, 4-H
Lock-Plate, Ti, Tibia, Med/Dist, Left, 6-H
Lock-Plate, Ti, Tibia, Med/Dist, Left, 8-H
Lock-Plate, Ti, Tibia, Med/Dist, Left, 10-H
Lock-Plate, Ti, Tibia, Med/Dist, Right, 4-H
Lock-Plate, Ti, Tibia, Med/Dist, Right, 6-H
Lock-Plate, Ti, Tibia, Med/Dist, Right, 8-H

Lock-Plate, Ti, Tibia, Med/Dist, Right, 10-H




Small Fragments

N#

REF

26.22.03.00004

26.22.03.00006

26.22.03.00008

26.22.03.00010

26.22.03.00012

09.15.05.35012

26.16.06.01003

26.16.06.01004

26.16.06.01005

26.16.06.01007

26.16.06.02003

26.16.06.02004

26.16.06.02005

26.16.06.02007

DESC

Lock-Plate, Ti, Recons, Curved, 4-H, Small Frag
Lock-Plate, Ti, Recons, Curved, 6-H, Small Frag
Lock-Plate, Ti, Recons, Curved, 8-H, Small Frag
Lock-Plate, Ti, Recons, Curved, 10-H, Small Frag
Lock-Plate, Ti, Recons, Curved, 12-H, Small Frag
Bending Template, 3.5mm Reconst Plate Curved, 12-H
Lock-Plate, Ti, T Oblique, Left, 3-H
Lock-Plate, Ti, T Oblique, Left, 4-H
Lock-Plate, Ti, T Oblique, Left, 5-H
Lock-Plate, Ti, T Oblique, Left, 7-H
Lock-Plate, Ti, T Oblique, Right, 3-H
Lock-Plate, Ti, T Oblique, Right, 4-H
Lock-Plate, Ti, T Oblique, Right, 5-H

Lock-Plate, Ti, T Oblique, Right, 7-H

QTY

11



Small Fragments

Implant Kit — Tray 2

12

N#

REF

25.02.00.00004

25.02.00.00005

25.02.00.00006

25.02.00.00007

25.02.00.00008

25.02.00.00010

25.02.00.00012

26.22.01.00004

26.22.01.00005

26.22.01.00006

26.22.01.00007

26.22.01.00008

26.22.01.00010

26.22.01.00012

DESC
Plate, Ti, Straight, 1/3 Tubular, 4-H
Plate, Ti, Straight, 1/3 Tubular, 5-H
Plate, Ti, Straight, 1/3 Tubular, 6-H
Plate, Ti, Straight, 1/3 Tubular, 7-H
Plate, Ti, Straight, 1/3 Tubular, 8-H
Plate, Ti, Straight, 1/3 Tubular, 10-H
Plate, Ti, Straight, 1/3 Tubular, 12-H
Lock-Plate, Ti, Recons, 4-H, Small Frag
Lock-Plate, Ti, Recons, 5-H, Small Frag
Lock-Plate, Ti, Recons, 6-H, Small Frag
Lock-Plate, Ti, Recons, 7-H, Small Frag
Lock-Plate, Ti, Recons, 8-H, Small Frag
Lock-Plate, Ti, Recons, 10-H, Small Frag

Lock-Plate, Ti, Recons, 12-H, Small Frag

QrY



Small Fragments

N# REF DESC QTY
25.06.01.00004 Lock-Plate, Ti, Straight, 4-H, Small Frag 2
25.06.01.00005 Lock-Plate, Ti, Straight, 5-H, Small Frag 2
25.06.01.00006 Lock-Plate, Ti, Straight, 6-H, Small Frag 2
25.06.01.00007 Lock-Plate, Ti, Straight, 7-H, Small Frag 2
e 10 25.06.01.00008 Lock-Plate, Ti, Straight, 8-H, Small Frag 2
25.06.01.00009 Lock-Plate, Ti, Straight, 9-H, Small Frag 2
25.06.01.00010 Lock-Plate, Ti, Straight, 10-H, Small Frag 2
25.06.01.00012 Lock-Plate, Ti, Straight, 12-H, Small Frag 2
25.06.01.00014 Lock-Plate, Ti, Straight, 14-H, Small Frag 2
09.15.01.35007 Bending Template, 3.5mm Plates, 7-H 1
cpoonassas 11 09.15.01.35009 Bending Template, 3.5mm Plates, 9-H 1
09.15.01.35012 Bending Template, 3.5mm Plates, 12-H 1
SoODOOEEEEEE  ]) 09.15.04.35012 Bending Template, 3.5mm Reconstruction Plate, 12-H 1

13



Cortical Screw, Ti, @3,5

Locking Screw, Ti, @3,5

Cancellous Screw, Ti, @#3,5 ‘ I l ' l '

14




Small Fragments
Screws Kit

15



Small Fragments

Screw Kit
c;r;k;al D‘rbul-gn Shaft Cortical Drill-Bit Locking Drill-Bit %iﬂgegﬁs Drill-Bit Cancellous
- @,@ @23 ® 6.3'5. 235 @25 235 @25 {0 Fully 22,0 24,0 Partly :
0 00000 o 000099000 D 0000000000 (0 DOOD PDDD
2 @OPO® PPPPPPOPO® 0000000000 (20000 ODOD
“ 00S00 PDPDDVNODD® 00000/,0000 (O ® 4
v 00002 ©® OOOO@SOOOO 090000 COOO®O® s |« DSDO OE 16
18 00000 @0 0009909999 0000000000 : | 18
0 00292 §¢) 0009099999 0000000000 (20000 OOOD
2 099099 0 000909999 00000000002 (29000 PODDO=
4 00000 00 0000000000 0000000000 20000 OODD+
% 00090 00 0000000000 0000000000 (0000 000D
% 00009 00 0000090909909 0000000000 =000 0000 =
30 00000 00 0000000099 0000000000 OO0 POPOD®
2 00000 00 0000000000 0000000000 0000 0DOD
% 00000 00 0000000009 0000000000 | =
% 00000 00 0000000000 0000000000 0000 200D
B 00000 00 000090990990 0000000000 (0000 P00®=:
0 00000 00 0000000000 0000000000 V000D OODOD
42 DDDDDPDDPDO® 0000000000 |x-D000 PDODD 4+
44 P0P0PPPDPD 00000000OO®O ~ | 50
00000 00 0000000000 0000000000 50000 PODDS
46 P0000009009 0000000000« ([0PODD PODDo
48 000D 0000000000 -
0 00000 00 0000000000 ©00©®® ® ® ® ® 50 | Plug Screw/ Spacer Screw / Washer
Siiisie eigizgisie ainig 200999 0000052 —
O 7900000 00000
500000 000005
SO 000005
r 1 DD 00000
@z [ 8 ] DO ©“99999 eeeeex
N# REF DESC

15.04.01.27008
15.04.01.27010
15.04.01.27012
15.04.01.27014
15.04.01.27016
15.04.01.27018
15.04.01.27020
15.04.01.27022
15.04.01.27024
15.04.01.27026
15.04.01.27028
1 15.04.01.27030
15.04.01.27032
15.04.01.27034
15.04.01.27036
15.04.01.27038
15.04.01.27040

Cortical Screw, Ti, @2,7 x 8mm TX
Cortical Screw, Ti, 2,7 x 10mm TX
Cortical Screw, Ti, @2,7 x 12mm TX
Cortical Screw, Ti, @2,7 x 14mm TX
Cortical Screw, Ti, @2,7 x 16mm TX
Cortical Screw, Ti, @2,7 x 18mm TX
Cortical Screw, Ti, @2,7 x 20mm TX
Cortical Screw, Ti, §2,7 x 22mm TX
Cortical Screw, Ti, @2,7 x 24mm TX
Cortical Screw, Ti, @2,7 x 26mm TX
Cortical Screw, Ti, @2,7 x 28mm TX
Cortical Screw, Ti, @2,7 x 30mm TX
Cortical Screw, Ti, @2,7 x 32mm TX
Cortical Screw, Ti, @2,7 x 34mm TX
Cortical Screw, Ti, @2,7 x 36mm TX
Cortical Screw, Ti, @2,7 x 38mm TX
Cortical Screw, Ti, @2,7 x 40mm TX

15.04.01.27042 Cortical Screw, Ti, 2,7 x 42mm TX  (Optional)
15.04.01.27044 Cortical Screw, Ti, 2,7 x 44mm TX  (Optional)
15.04.01.27045 Cortical Screw, Ti, @2,7 x 45mm TX

1 6 15.04.01.27046 Cortical Screw, Ti, @2,7 x 46mm TX  (Optional)
15.04.01.27048 Cortical Screw, Ti, 2,7 x 48mm TX  (Optional)

15.04.01.27050

Cortical Screw, Ti, 2,7 x 50mm TX

3

Ul U1 U1 U1 U1 UTUTUTUTUTUTUTUTUTUTUT UL UL U1 U1l Ul Ul U



Small Fragments

SNSRI SO S

N#

REF

15.38.01.35016
15.38.01.35018
15.38.01.35020
15.38.01.35022
15.38.01.35024
15.38.01.35026
15.38.01.35028
15.38.01.35030
15.38.01.35032
15.38.01.35034
15.38.01.35036
15.38.01.35038
15.38.01.35040
15.38.01.35042
15.38.01.35044
15.38.01.35045
15.38.01.35046
15.38.01.35048
15.38.01.35050
15.04.01.35010
15.04.01.35012
15.04.01.35014
15.04.01.35016
15.04.01.35018
15.04.01.35020
15.04.01.35022
15.04.01.35024
15.04.01.35026
15.04.01.35028
15.04.01.35030
15.04.01.35032
15.04.01.35034
15.04.01.35036
15.04.01.35038
15.04.01.35040
15.04.01.35042
15.04.01.35044
15.04.01.35045
15.04.01.35046
15.04.01.35048
15.04.01.35050
15.04.01.35052
15.04.01.35054
15.04.01.35055
15.04.01.35056
15.04.01.35058
15.04.01.35060

Screw Kit

DESC

Shaft Screw, Ti, @3,5 x 16mm TX
Shaft Screw, Ti, @3,5 x 18mm TX
Shaft Screw, Ti, @3,5 x 20mm TX
Shaft Screw, Ti, 3,5 x 22mm TX
Shaft Screw, Ti, @3,5 x 24mm TX
Shaft Screw, Ti, @3,5 x 26mm TX
Shaft Screw, Ti, @3,5 x 28mm TX
Shaft Screw, Ti, @3,5 x 30mm TX
Shaft Screw, Ti, @3,5 x 32mm TX
Shaft Screw, Ti, 3,5 x 34mm TX
Shaft Screw, Ti, @3,5 x 36mm TX
Shaft Screw, Ti, @3,5 x 38mm TX
Shaft Screw, Ti, @3,5 x 40mm TX
Shaft Screw, Ti, @3,5 x 42mm TX
Shaft Screw, Ti, @3,5 x 44mm TX
Shaft Screw, Ti, 3,5 x 45mm TX
Shaft Screw, Ti, 3,5 x 46mm TX
Shaft Screw, Ti, @3,5 x 48mm TX
Shaft Screw, Ti, @3,5 x 50mm TX
Cortical Screw, Ti, @3,5 x 10mm TX
Cortical Screw, Ti, @3,5 x 12mm TX
Cortical Screw, Ti, @3,5 x 14mm TX
Cortical Screw, Ti, @3,5 x 16mm TX
Cortical Screw, Ti, @3,5 x 18mm TX
Cortical Screw, Ti, @3,5 x 20mm TX
Cortical Screw, Ti, @3,5 x 22mm TX
Cortical Screw, Ti, @3,5 x 24mm TX
Cortical Screw, Ti, @3,5 x 26mm TX
Cortical Screw, Ti, @3,5 x 28mm TX
Cortical Screw, Ti, 3,5 x 30mm TX
Cortical Screw, Ti, @3,5 x 32mm TX
Cortical Screw, Ti, @3,5 x 34mm TX
Cortical Screw, Ti, @3,5 x 36mm TX
Cortical Screw, Ti, @3,5 x 38mm TX
Cortical Screw, Ti, 3,5 x 40mm TX
Cortical Screw, Ti, @3,5 x 42mm TX
Cortical Screw, Ti, @3,5 x 44mm TX
Cortical Screw, Ti, @3,5 x 45mm TX
Cortical Screw, Ti, @3,5 x 46mm TX
Cortical Screw, Ti, @3,5 x 48mm TX
Cortical Screw, Ti, 3,5 x 50mm TX
Cortical Screw, Ti, @3,5 x 52mm TX
Cortical Screw, Ti, @3,5 x 54mm TX
Cortical Screw, Ti, @3,5 x 55mm TX
Cortical Screw, Ti, @3,5 x 56mm TX
Cortical Screw, Ti, @3,5 x 58mm TX
Cortical Screw, Ti, 3,5 x 60mm TX

(Optional)
(Optional)

(Optional)
(Optional)

I\Jl\)l\.)l\)l\)l\)l\)l\-‘l\.)l\)l\)l\)l\)l\)l\)l\)l\)l\)l\)'<j3

[ e e o T o e e e e S e S S S S T S T S T S T Ty
O O O O O O OO O o o o o o o o o o

10

17



Small Fragments

18

Screw Kit
o;rzm;al Déﬂzl-gil Shaft Dgzl-gn Logcklng Drill-Bit 0;4"8",:'“,‘,7 D‘g«an 22“3’:“",‘;‘;
3 A X 3,5 @25 ,0 Ful 2,0 .0 Pa
bl LA bbb 00966 Drill-Bit ]
0 02999 o 000009099 ® 0000000000 (0DOO® 99D
= PO 29909000000 0000000000 :(:06 2
u @899® DO QDOPO® 000090/ 0000 « 145(5 20 3367514
1 00000 ©© 00009»330000 000POOCOPOOO® [ DITDO® DEDVD
T 00000 00 0000000999 000000000 ® : = 18
0 00999 ¢) 0009990999 0000000000~ 20000 PPOOx
2 000909 900 0000999999 0000000000 (20000 00002
% 00000 00 020000090990 0000000000 | 24
% 00000 00 0000009999 0000000000 0000 O0DD=
8 990999 00 9099099999 0000000000 | 20000 PPDD=
N 09292 00 02000000999 0000000000 (N OOOD OOOD N
2 090922 00 0909099990999 0000000000 (20000 000D
1 @9999@ 0000000000 20000 D0DOD»
% 09992 00 02000090999 0000000000 (OO0 PPDD»
B 099292 00 P0PPPPPPP® ©0000000000: P00 PO0O®:
W 00000 00 92000000009 0000000000 (v DOOD PDODD«w
42 DPPPOPOPPP 0000000 P00. (0000 ODD® s
2 2909009009000 0000000000« | 50
5 00000 00 2009999990 0000000000 0000 ©OOO®s
46 PPPPPPPPPD 0000000000« ([ PODOD PPODDc0
48 90000009090 0000000000
0 Q0000 00 0000000000 ©00©©®®© ©® ® ® ® 0 | Plug Screw/ Spacer Screw / Washer
seie Rl sigle giele 20O 0000052 —
e “PD0000 00000 Eeee——
500000 000005 —
“DOOPD ©0000 - BN
o =L 1 “00000 00000 .
@s [ 811 “90900 ©eeeex . ~
Lo - — L _———
N# REF DESC QTY
15.14.01.35010 Locking Screw, Ti, @3,5 x 10mm TX 10
15.14.01.35012 Locking Screw, Ti, @3,5 x 12mm TX 10
15.14.01.35014 Locking Screw, Ti, @3,5 x 14mm TX 10
15.14.01.35016 Locking Screw, Ti, @3,5 x 16mm TX 10
15.14.01.35018 Locking Screw, Ti, @3,5 x 18mm TX 10
15.14.01.35020 Locking Screw, Ti, @3,5 x 20mm TX 10
15.14.01.35022 Locking Screw, Ti, @3,5 x 22mm TX 10
15.14.01.35024 Locking Screw, Ti, @3,5 x 24mm TX 10
15.14.01.35026 Locking Screw, Ti, @3,5 x 26mm TX 10
15.14.01.35028 Locking Screw, Ti, @3,5 x 28mm TX 10
15.14.01.35030 Locking Screw, Ti, @3,5 x 30mm TX 10
4 15.14.01.35032 Locking Screw, Ti, @3,5 x 32mm TX 10
15.14.01.35034 Locking Screw, Ti, @3,5 x 34mm TX 10
15.14.01.35036 Locking Screw, Ti, @3,5 x 36mm TX 10
15.14.01.35038 Locking Screw, Ti, @3,5 x 38mm TX 10
15.14.01.35040 Locking Screw, Ti, @3,5 x 40mm TX 10
15.14.01.35042 Locking Screw, Ti, @3,5 x 42mm TX 10
15.14.01.35044 Locking Screw, Ti, @3,5 x 44mm TX 10
15.14.01.35045 Locking Screw, Ti, @3,5 x 45mm TX 10
15.14.01.35046 Locking Screw, Ti, @3,5 x 46mm TX 10
15.14.01.35048 Locking Screw, Ti, @3,5 x 48mm TX 10
15.14.01.35050 Locking Screw, Ti, @3,5 x 50mm TX 10

15.14.01.35052

Locking Screw, Ti, @3,5 x 52mm TX 5



Small Fragments

N#

REF

15.14.01.35054
15.14.01.35055
15.14.01.35056
15.14.01.35058
15.14.01.35060
15.08.01.40010
15.08.01.40012
15.08.01.40014
15.08.01.40016
15.08.01.40018
15.08.01.40020
15.08.01.40022
15.08.01.40024
15.08.01.40026
15.08.01.40028
15.08.01.40030
15.08.01.40032
15.08.01.40034
15.08.01.40036
15.08.01.40038
15.08.01.40040
15.08.01.40045
15.08.01.40050
15.08.01.40055
15.08.01.40060
15.06.01.40010
15.06.01.40012
15.06.01.40014
15.06.01.40016
15.06.01.40018
15.06.01.40020
15.06.01.40022
15.06.01.40024
15.06.01.40026
15.06.01.40028
15.06.01.40030
15.06.01.40032
15.06.01.40034
15.06.01.40036
15.06.01.40038
15.06.01.40040
15.06.01.40045
15.06.01.40050
15.06.01.40055
15.06.01.40060

Screw Kit

DESC

Locking Screw, Ti, @3,5 x 54mm TX
Locking Screw, Ti, @3,5 x 55mm TX
Locking Screw, Ti, @3,5 x 56mm TX
Locking Screw, Ti, @3,5 x 58mm TX
Locking Screw, Ti, @3,5 x 60mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 10mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 12mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 14mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 16mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 18mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 20mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 22mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 24mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 26mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 28mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 30mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 32mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 34mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 36mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 38mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 40mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 45mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 50mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 55mm TX
Cancellous Screw, Ti, Full Thread, @4,0 x 60mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 10mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 12mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 14mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 16mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 18mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 20mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 22mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 24mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 26mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 28mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 30mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 32mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 34mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 36mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 38mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 40mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 45mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 50mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 55mm TX
Cancellous Screw, Ti, Part Thread, @4,0 x 60mm TX

o
3

A DDA DDA DD DDA DDADDDDDDADDDADDDDDDADDDADDDDDDAEDDDDDDDA DD 0WG

19



Small Fragments

20

Screw Kit
i AL s b 90999 n'u—'an . ‘ . ' » ' ‘ )
0 09999 » PP PDP 0000000000 (01 ODOOO DODD
2 98POO 20000900900 0000000000 : = 2
14 @0 S9® OOOO%DOOOO 00000 0000 | DO OCLHD®
1t @000 ® ® PPV O® 00000 TCOOOO: |:DEDO DEDD
B 00000 00 0000000000 000000000 ® | 18 |
0 @999 ® DPPPPPPPO® 000000090909 ® 20
:2?22 00000 0o 0000000000 00000000002 20000 000Dz
2% 00000 00 0000000000 0000000000 | 24
% 00000 00 00000099099 0000000000 |[xPP00 P0PD®Dx
s 00999 00 929099999999 0000000000 (0000 DO
0 00000 00 0000000000 0000000000 (v 0000 200D
2 009909 00 PPP9PPPPP® 0000000000 0000 PPDD:2
“ 909000 0000000000 20000 2000
% 00000 00 20900090 99° 0000000000
B 00922 O0 P099PPP9P9® 0000000000
w0 @9990® (XX XXX
42 DPPPOPOPDOP 0000000006
44 P000000000 0000000000
5 00000 00 20009009990 0000000000
46 POOPPPPOP29®
a8 PP00PPPPP® 0000000000 -
0 00022 00 2099999999 0000000000
c 223888392838 20PDDD® 00000 2
e “P000e 00000
500D 000005
500D 0000 O -
- -t 1 DD 000080
G [ 8 1 O ©“9999® eeeeex
N# REF DESC QTY
“ 7 15.18.01.35000 Plug Screw, Ti, Locking Plate, @3,5mm TX X
.‘ 7 15.20.01.35002 Spacer Screw, Ti, Locking Plate, @3,5 x 2mm TX X
O 7 99.05.01.40000 Washer, Ti, @4,0mm X
/ 8 09.10.01.00000 Screw Forceps, Small 1



Small Fragments

Screw Kit

®
(@]
\—\—C\IC\IC")

Screw size checking slot and
drill-bit @ checking holes

!

v O Ww
o 3 <

o
(o)

Drill-Bit

@25

50
99

21









AST.BOX.032
REV.02
10/2022



